N of associated (recoToSim) looper tracks vs normalized X’

recoToSim) tracks vs normalized x?

[{

[N o associated

[N of reco track vs normalized x2 ]

02
N <
00 X
— O
© .
© S .
— |
< '
— 3 |
- d
o L4 1
— |
o |
— .
i O R |
R N |
© i . e
< —
o D o H
o bl
s o
syoen areandnp oney
32
N <
00 X
— O
s
© =
<
—
N
—
o
—
[ee]
©
<
o
=)
syoel axey oney
o
Ny m
TR g
o dos | g
- 9
..... = | g
£
s =
. Mw — 5
€9
. . 1O
: Wl &
T &
<o)
--{o 2
=
T B
B
RERS N ,uam
I P L P I b=
agman bunsss o b2
o o o — Ha
=1 — — hos
syoes ang b0 stoenann oney
=}
Faa)
==l
hee
P oo
A
Lhs

10 12 14 16 18 20
track x2
BRI

2,
-
———

0

o

A -

¥ >

. =

g

N N =

b b 8

I T P o

" 3 = -

o o o

— — P
syoen L syoen oney



	Contents
	Page 1


